2014 FREFhIRIRE (AR )

5% F1E 201448 H23H
1 {IHR{ERER VS 4 BRiBHERA
H= S
LTHR{RRER KSR IR LTHRRIRER
it : ZRIE x:EEW it : 24T IR RIR
FA 2R 78 . R B =25 7 : {aEE)
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 3NT +2 460 1t 3NT +2 460
> el 46 | 2s [ +2 | 170 | 4t | 25 | +2 | 170
3 | FAL db 1aH +1 450 it 4H +1 450
4 WE=] [£3] 3NT +1 630 1t 3NT +1 630
5 it x 4Sx -2 300 x 4Sx -2 300
6 panyiie] [£3] 4D -1 -50 [£3] 3NT = 400 10
7 PE=] x 2D +1 -110 1t 2S = 110 6
8 TS [ri] 5C +2 -440 x 4H +1 -450
9 panyiic] x 3NT +2 -660 x 5C +1 -620 1
10 | \WHB 1t 5C = 600 1t 5C = 600
11 | W x 4S -1 50 x 3NT = -400 10
12 | Edb [ri] 3D +2 -150 x 4H +1 -450 7
13 | WH/ x 4S = -620 x 4H = -620
14 | WF 1t 6C +1 940 x 4Sx -6 1400 10
15 | ggde| 7 4S = | 420 | 7 4S = | -420
16 | ZRFg 1t 5Hx -3 -500 x 4S +2 -680 5
DATUM&iit iFE
TR RER ERistaPA r: 5 ] 22 | 27
ZHRIE/RRE 11 DT /EEE 16 &it 22 | 27
RNE/MIEE) -16 B /R -11 V.P. 8.52 | 11.48




2014 FREFhRIRIRE (AR )

% 5% B2 201448 H23H
2 RSIERRRA VS 3 I HTBRA
H= S
R IHELRERA T maRA T maRA R IIHELRERA
1t : FHELT R : BRLER it : SR R =K
[EZp o) 74 : 1Ak B o XU AT
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 3NT +2 460 1t 3NT +2 460
2 it 1t 4Sx = 790 1t 3S +1 170 12
3 | FAL db 1aH +1 450 [£3] 4H +1 450
4 WE=] 1t 3NT +2 660 [£3] 3NT = 600 2
5 it x 4Sx -2 300 x 4S -2 100 5
6 panyiie] [£3] 4D -1 -50 x 3H +1 -170 3
7 PE=] x 3D = -110 x 3D = -110
8 TS [ri] 3NT +1 -430 [ri] 3NT +3 -490 2
9 panyiie] x 3NT +3 -690 x 3NT +3 -690
10 | \WHB 1t 5C = 600 1t 4C +1 150 10
11 | X x 4S = -420 x 4S -1 50 10
12 | Edb [£3] 3S -5 -500 [ri] 3D +1 -130 9
13 | WH/ x 4S = -620 x 4S = -620
14 | W 1t 6C +1 940 1t 7C = 1440 11
15 | Edt [ri] 6S -1 50 [ri] 6S -2 100 2
16 | ZRFg [£3] 5Hx -3 -500 x 58S +1 -680 5
DATUM&iit iFE
RIEEBRRA I rBA r: 5 ] 39 | 32
WELT/ITBEXL 15 SERU/XIFR 11 ait 39 | 32
SRIZER -11 FRZC BRI, -15 V.P. 12.03 | 7.97




2014 FREFhRIRIRE (AR )

% 5% B3 201448 H23H
6 FREEZEEA VS 7 —%(EHER
H= A=
FENEZRA —X(EHRIR —X(EHRIR FENZRA
it : 8K R EE b | b < R:REZ
B FRleE 78 XURZ A BRI i NS
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 6NT -50 1t 3NT +2 460 11
2 it 1t 2H -4 -400 [ri] 5Hx -3 500 14
3 | FAL db 1aH +1 450 it 4H +1 450
4 WE=] 1t 3NT +2 660 [£3] 3NT +1 630 1
5 it x 4Sx -1 100 x 4S -2 100
6 panyiie] 1t 4D -1 -50 x 4HX -1 200 6
7 PWE=] x 3D = -110 [ri] 2NT -2 200 7
8 TS x 3NT +3 -490 [ri] 3NT +3 -490
9 g [ri] 5C +1 -620 [ri] 6C = -1370 13
10 | \WHB 1t 4C +1 150 [ri] 4HXx -2 500 8
11 | W x 4S -1 50 x 4S = -420 10
12 | Edb x 4H +1 -450 x 4H +1 -450
13 | WHB x 4S = -620 x 4S = -620
14 | WF 1t 6C +1 940 [£3] 6D -1 -50 14
15 | Edt x 4H = -420 [ri] 58S = -450 1
16 | ZRFg x 4S +2 -680 x 58S +1 -680
DATUM%tiT iFE
AREFEZPA —X(EHFR y. S+ ] 39 | 46
F8U/FRE -37 VR -25 Aait 39 | 46
RZE/MITK 25 FZ/XUB 37 V.P. 7.97 | 12.03




2014 FREFhRIRIRE (AR )

¥ 54 %45 201448 23H
5 ZRhPA VS 8 iLI MF/=PA
H= S
IR5EhRA 7L A BA 7L A BA IR5EhRA
it : B= R BHBE it . Z=EE IR HRE
M EBE 7 : BRF B REF 7 : PR
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 3NT +1 430 1t ANT +1 460 1
2 it x 3D = -110 1t 3S +1 170 7
3 | FAL db 1aH +1 450 it 4H +1 450
4 WE=] 1t 3NT +1 630 [£3] 3NT +2 660 1
5 it [£3] 5Cx -2 -500 [£3] 4C = 130 12
6 panyiic] [£3] 4D = 130 [£3] 3NT = 400 7
7 E=] [£3] 4H -1 -100 x 3D = -110
8 | XWF [ri] 3NT +4 | -520 [ri] 3NT +4 | -520
o |#mE| & | ec | = |-1370| & | aNT | +3 | -690 12
10 |wsl 4 | sc | = | e0o | 4 | sc | = | 600
11 | X x 4S -1 50 x 3NT -2 100 2
12 | Edb x 4H = -420 x 3H +1 -170 6
13 | WH/ x 4S = -620 x 4S = -620
14 | W 1t 7C = 1440 [£3] 6NT +1 1020 9
15 | Edt x 4H = -420 [ri] 58S -1 50 10
16 | ZRFg x 4S +2 -680 x 58S +1 -680
DATUM&iit iFE
F5ehPA iLI 5 =BA r: 5 ] 9 58
SER/EEE 25 ZFEN/REF 25 ait o 58
HIRIE/BRRE -25 XFEZ/pMEFE 25 V.P. 0.94 | 19.06




2014 FREFhRIRIRE (AR )

% 5% %5 5 201448/ 23H
9 Ekifg{HEapA VS 12 FLLEERBEA
A= A=
IR HERA RLLESBA RLLESRA IR HERA
it : RO R HEE it : g IR : JCBHH
7 22| 7 : AR = 74 FE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wxl & | aNT | +1 | 430 | & | aNT | +1 | 430
2 |mt] & | sHx | 3 | s00 | 4 | 4s | = | 620 3
3 | FAL db 1aH +1 450 [£3] 4H +1 450
a |wal 4 | snT | +2 | 660 | B | 3NT | = | 600 | 2
5 |mdt] = | asx | 2 | 300 | & | 4sx | -2 | 300
6 |mm| & | 40 | = | 130 | & | sNT | = | 400 7
7 |wal &m | 20 | 1| 100 % | 30D | -1 | 100 5
8 |wx| & | sc | +1 | 420]| & | aNT | +3 | 400 | 2
o |mm| x | sb | +1 | 20| & | ec | = |-1370] 13
10 |wal 4t | sc | = | 600 | 7 | 4Hx | -1 | 200 | o
117 |wxel & | aNnT | +2 | 430 &® | 5¢ | = | -a00 1
12 |mdbl 7 | aNT | +2 | 460 | & | aNT | +3 | 490 | 1
13 |wal @ | 4s | = | 620 & | 25 | +3 | 200 9
14 |wxl 46 | ec | +1 | 940 | 4t | ec | +1 | 940
15 gt & | eH | 2 | 100 | 7 | 4s | = | 420 | 12
16 |mm| & | 4s | +2 | 680 | & | 55 | +1 | -680
DATUM% it I E
B {HeapA FRLLEESBA Z. X ] 38 | 25
R/ /2H 13 SfERITRE -3 ait 38 | 25
VCBBR/STE 3 =B /ER -13 V.P. 13.52 | 6.48




2014 FREFhRIRIRE (AR )

% 5% %6 5 201448/ 23H
10 iFYIFARA VS 11 ;IIIZMRBRA
A= =
R AR BA LI JZRIRBA 7L JZEMRBA R BA
1t : 3KFBIF R:= € it : EmIFH i =L Vi
B ERF 79 : ZE5h 7 . [ 79 F
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wxl 46 [ anT | 42| 460 | ®m | aNT | 42| 430 | 1
2 |mdt]l 4t | 2s | +2| 170 | & | 4s | = | 620 10
3 | FAL db 1aH +1 450 [£3] 4H +1 450
a |wal 4 | snT | +2 | 660 | 46 | 3NT | +2 | 660
5 |mit] = | asx | 2 | 300 | @ | s¢ | 2 | 200 | 11
6 |mA| 4t | anT | +2 | 150 | & | sNnT | = | 400 6
7 |wal w8 | 21 | +2| 270 & | 3D | +1 | 130 | 7
8 | XWF [ri] 3NT +4 | -520 [ri] 3NT +4 | -520
o |mA| ® | aNT | +4 | 720 | & | 4Hx | 5 |-1100] o9
10 |wal @ | snT | +2| 660 46 | 5¢ | = | 600 | 2
117 |wxel = | 4s | = | 420 7 | 4s | = | -a20
12 |mdtl & | aNT | 2 | 200 7 | 3D | +1 | -130 | 6
13 |wal & | 4s | = | 620 ® | 4s | = | 620
14 |wxl 46 | ec | +1 | 940 | 4t | 7c | = | 1440 11
15 |t = | 4H | = | 420 7 | 4s | = | -a20
16 | ZRAl HF 4S +2 | -680 x 4S +2 | -680
DATUM% it I E
=Y A=RA iLIIZEMRRA Z: 3+ ] 36 | 27
SKIBEEALIERE 10 FFIPH/E=RH 2 ait 36 | 27
H{E32/FE5 -2 = S/ESA -10 V.P. 1255 | 7.45




2014 FREFhIRIRE (AR )

¥ 5% 875 201448 H23H
14 BR;TSENKPA VS 15 BRKEGIRA
H= A=

BTSN BETTIN ST TIN BTSN

IT— . It mET . TR

o e T BEE = - BN 7 e
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 3NT +2 460 1t 3NT +2 460

2 it x 3D -1 50 1t 4S = 620 11
3 ,?ﬁ [£3] 4H +1 450 1t 6S -1 -50 11
4 PE=] [£3] 3NT +3 690 1t 3NT +3 690
5 it 1t 3NT -3 -300 1t 3NT -2 -200 3
6 ,?ﬁ 1t 2NT = 120 [£3] 5D -2 -100 6

7 PE=] x 3D = -110 [ri] INT -1 100 5
8 TS x 3NT +2 -460 [ri] 3NT +4 -520 2
9 ,?ﬁ x 3NT +2 -660 [ri] 5C +1 -620 1
10 | \WHB 1t 5C = 600 1t 5C = 600
11 | X x 4S = -420 x 4S = -420
12 | Edb x 2H +4 -230 x 4H +1 -450 6
13 | W/ x 4S +1 -650 x 4S +1 -650
14 | W 1t 7C = 1440 1t 6C +1 940 11
15 |gel & | 4s | = | 420 & | 4s | = | -420
16 | ZRFg x 5S = -650 x 4S +2 -680 1

DATUMiT T
BRI TSCMVRA ER<EGIRA Y. X+ 37 | 20

BEIKB/XETI -7 RS/ RM -22 ait 37 | 20
TER/EFLKIE 22 XL/ EERE 7 V.P. 14.39 | 5.61




2014 FREFhIRIRE (AR )

¥ 5% % 8 % 201448 H23H
13 KIE(EE) VS 16 {FELL{EFARA
H= A=
K& H) FBLLIERIN FBLLIERIN K@)
Tt TH® . = e T
B o BERN 7 . 2 B 1 i I=TI[ES S
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 3NT = 400 1t 3NT +1 430 1
2 it 1t 2S +2 170 1t 2S +2 170
3 | FAL db 1aH +1 450 [£3] 4H +1 450
4 WE=] [£3] 3NT +1 630 [£3] 3NT +2 660 1
5 it x 4S -2 100 [£3] 5C -2 -200 7
6 ,?ﬁ 1t INT +2 150 [£3] 3D = 110 1
7 WE=] x 3D = -110 [ri] 3D +1 -130 1
8 TS [ri] 3NT +3 -490 [ri] 3NT +3 -490
9 panyiie] x 5C +1 -620 x 4S +2 -680 2
10 | \WHB 1t 5C = 600 1t 5C = 600
11 | W [ri] 3NT +1 -430 [ri] 4S -2 100 11
12 | Edb x 4H = -420 x 3H +3 -230 5
13 | WH/ x 4S -1 100 x 4S = -620 12
14 | W 1t 6C +1 940 1t 6C +1 940
15 |t & | 4s | = | 420 7 | 6s | -2 | 100 11
16 | ZRFg [£3] 5Hx -3 -500 x 4S +2 -680 5
DATUMiT T
KIE(EH) EELLTEFIRA Y. X+ 28 | 29
FERE/ B EREN 5 o/ B 6 Aait 28 | 29
TCER I/ BIE S -6 ZIRE/ R -5 V.P. 9.69 | 10.31




